
Assembly language is a low‐level programming language which uses mnemonics for 
the opcode and a symbolic name for the operand e.g. LDA firstOne
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…Python uses natural language so it’s easier/more intuitive/focuses on problem 
solving rather than syntax
…it is portable so it can be compiled for many different CPU instruction sets
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Use the materials on the following site, including the Applet which you will need to 
launch:
http://www.yorku.ca/sychen/research/LMC/
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An illustration, to get you started (the # is a comment and does not appear in the 
code)

1. EXEMPLAR SOLUTION FOR TASK 1

INP #input – this input will be sotred in the register, ACC.  
Notice how this doesn’t have an operand)
STA num1 #STA stores value in the accumulator in memory as the 
next input will overwrite the first number entered into the ACC
INP #input – again this puts the value in the ACC overwriting 
the last input, which is now stored in memory
STA num2 #STA – this needs to be stored too as there is one more 
input to collect, we use a different identifier so it doesn’t overwrite num1 in memory
INP
OUT #Output the value in the accumulator – i.e. the last 
input will be in there – it doesn’t need to be stored, but could if you wanted
LDA num2 #LDA – load, operand num2 and put it in the ACC
OUT #output contents of the ACC
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LDA num1 #load the first number into the ACC
OUT #output it
HLT #halt the program
num1 DAT #declare variable/data
num2 DAT #declare variable/data
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